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IMUTOEE. L7 . TREDHBEOTIN . IMUTOGEE. T 8% N TREOHBOFTIN N
HUTARORN |OBEI<L2 0 TRESNORE 5 sz s TRESNORE || g oR | 0BEicssn TRESNORSE 5 sz s TS ORI
100kN/m’* % 8% 5 K i3 100kN/m’Z% 8 % 5 B ish
HhoXREFE| 8% | HhoXEFE| 8% | HhoXEFE| 8% | hoXEs| 285% hoXzx| £R7E (HoX2Ex| 8% | Hhoxzs| 7% [ HhoXzx| 8%
D 3BHEK| DFS |D53BRK| OES [D3BHRK| DS |D5BKRK|[ OFS D 3BHREK| DFE |D3BRK| OES [D3BHRK| OES | D5BHKRK NES
DHD DHD DHD DHD E)) LD DHD DHD
(kN/m?) (m) (kN/m?) (m) (kN/m?) (m) (kN/m?) (m) (kN/m?) (m) (kN/m?) (m) (kN/m?) (m) (kN/m?) (m)
1 ~ 2 - - - - - - - -
2 ~3 - - - - - - - -
3 ~ 4 - - 73.1 1.0 - - 9.0 2.1
4 ~ 5 - - 70.2 1.0 - - 9.2 2.1
5 ~ 6 - - - - - - - -
7 ~ 8 - - 100.0 10 = = 99 23
9 ~ 10 - - 9356 10 = = 9.9 23
10 ~ 11 - - 90.3 1.0 - - 7.9 1.8
11 ~ 12 - - 89.1 1.0 - - 8.0 1.8
12 ~ 13 - - 89.1 1.0 - - 9.0 2.1
13 ~ 14 - - 67.0 1.0 - - 9.3 2.2
14 ~ 15 - = 98.7 10 = = 109 25
16 ~ 17 - - - - - - = =
17 ~ 18 - - - - - - = =
18 ~ 19 - - - - - - = =
19 ~ 20 - - - - - - - -
20 ~ 21 - - - - - = = =
21 ~ 22 - - - - - - - =
22 ~ 23 - - - - - - - =
23_~ 24 - - - - - - - =
24 ~ 25 - - - - - - - =
26 ~ 27 - - 76.2 10 = = 98 23
27 ~ 28 - - 76.2 10 = = 86 20
29 ~ 30 = - 88.3 10 = = 107 25
30 ~ 31 - - 733 10 = = 7.9 8
31 ~ 32 - - 708 10 = = 73 17
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